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1 |BRK EH BRI 68 = — /XA R 18.06 | 7.74 |[25.80
2 |BAR EX il eaic| U II>VT 7 17.36 | 7.38 [|24.74
3 |Ax B KA AR 68 = — /XA R 17.08 | 7.26 |[24.34
4 R BIE BAfE R U IILYT 7 17.22 | 6.78 []24.00
5 | MM EIF KRB R 68 = — /XA R 16.66 | 7.02 |[23.68
6 |g7)Il FHE SMTHIIEEE TIWLILYT T 16.52 | 6.84 |[23.36
7 |ME OE EHRPEDE 30K 16.24 | 6.90 |(23.14
8 |BL XF BAMIMEAEZ 30T 16.10 | 6.90 |(23.00

ROUND2-G2
NEAL 4 R G- Y 4 TEC ~ ATH || Total
1 (&R W\E KARF=EEFFRHE 8 7LV T T 17.92 | 7.80 ||25.72
2 | HREER IFHHILEI IV T 7 17.36 | 7.32 ||24.68
3|k ER NEFHE 30T E 17.22 | 7.38 |(24.60
4 PER T RS/ R 8 ZILILYT 7 16.10 | 6.84 |[22.94
5 |IRE EB=X BB 8 7LV T T 15.96 | 6.78 ||22.74
6 [JE ZEE Iz B8 73 X ANy 68 = — /%A iR 15.68 | 6.72 ||22.40
T |UIE BRI DLEHIALTEE 68 = — /XA K 15.12 | 6.54 |[21.66
8 |&AE =M AilmEMmILAIE 68 = — /XA R 15.26 | 6.36 |[21.62

ROUND2-G3
NEAL 4 il BT & ¥4 TEC ~ ATH || Total
1 |28 Bt NEFH 30T 17.78 | 7.44 |(25.22
2 | bhi WEFE 68 —— /XA R 16.66 | 7.26 |[23.92
3|+ tiE EiniRva=viti= 68 = — /XA R 16.10 | 6.84 |[22.94
4 |FIRE = RETH I ENE TIWLILYT T 15.68 | 6.60 |([22.28
5 AR ZEtx B 8 7LV T T 15.54 | 6.72 ||22.26
6 |=F R fEY T LSRR 68 = — /XA R 14.98 | 6.42 []21.40
T |BH INE e 4 BT 1E 4 68 = — /XA R 14.14 | 5.94 |(20.08
8 [EHII FE EIREMIIRER 68 = — /XA R 13.86 | 5.94 |(19.80
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2 [BR ¥EE BERZENER) 68 = — /%A iR 17.36 | 7.38 ||24.74
3 |FHE TR NEFH 30K 17.36 | 7.32 |[24.68
4 |HN 0FxY JNEmiz & 28 h>oyvaw 17.08 | 7.44 []24.52
5 |Ad k#= oSN ER 8 7LV T T 15.68 | 6.90 |[22.58
6 |[FAT HLIE ANRHILE— TIWLILYT T 15.96 | 6.54 |(22.50
T |REH BX TEAMm IR 68 = — /XA R 15.68 | 6.78 |[22.46
8 [FF +tIE KETHI(—RIE 8 ZINLILYT T 14.98 | 6.18 ||21.16




